
The online certifying examinations are computer-based and consist of 65 - 70 questions. There are different marks for different questions with a total of 100 marks in the exams. 75% of the 
marks will be for questions answered electronically, and 25% of the marks will be for questions answered manually on pre-printed answer sheets provided at the time of your exam. 

The exams consist of a range of question types for the computer-based section, including:

•	 Multiple choice/single choice (one correct answer from a range of possible answers) 
•	 Inline (select a word/phrase to complete a statement) 
•	 Numerical 
•	 Multi-select (select the number of correct answer options)

The paper-based questions will require the candidate to either write an answer or draw, design or fill in answers on a diagram provided on the answer sheet.

The exam lasts for two and a half hours.

Reference materials will be supplied to candidates as a PDF within the exam, if you require hard copies of the codes and standards when sitting your exam, you will need to apply for special 
conditions with PGDB prior to booking your exam with Aspeq.

When will I receive my results? 
Due to the manual paper-based answers, the exam is sent to a marker for manual marking. This process takes 10 working days to complete.

Can I sit the examination as many times as I need? 
Yes. Once you receive your mark, you can book your second attempt as early as the next available sitting. After a failed second attempt, a three-month stand-down period will be enforced.

The following document contains example questions, provided to familiarise you with the types of questions and 
answer formats that you will find in your examination. You won’t be asked the same questions in the real exam.
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The excavation in the diagram is full of water.

The excavation is 12.25 m long, 0.75 m wide, 1.3 m deep at the shallow end and 2.4m at the deep end.

A dewatering pump has a discharge rate of 50 litres/minute.

Calculate the time required to dewater the excavation using this pump.
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Convert to litres = 16.996 × 1000 = 16996 L (12,000)      (1 mark)

Average depth  = (2.4 + 1.3) ÷ 2 = 1.85        (2 marks)                          

Volume = 12.25 m × 0.75 m × 1.85 m = 16.996 m3       (1 mark)   

Minutes  = 16996 ÷ 50 = 339.9mins (340mins)        (1 mark)

Total = 5 marks
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The diagram below is a schematic of uPVC water supply pipework in a building.

The building specifications state the following:

Support is to be provided 100 mm from the end of each pipe.​ 
Three clips are to be included for each tee, each located 100 mm from the tee.
Two clips are to be included for each bend, each located 100 mm from the bend.
The straight lengths of pipework are to be supported to comply with New Zealand Building Code Acceptable Solution G12/AS1 Water Supplies.

Complete the table to show the number of clips required for each section of pipe listed.
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Use the drop-down option/s to complete the following statement. Mark(s) are only awarded for a fully correct answer

The minimum capacity of  		       is required for a grease trap that takes the discharge from a 140 seat restaurant.

There is a maximum allowable distance between a gully dish and a grease trap of three metres 

700 litres
to stop the waste water cooling and fats 
solidifying on the internal wall of the pipe
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According to AS/NZS 5601 Part 2, what pressure should installation pipework in a caravan be pressurised to when performing a pipework test?

2.0 kPa

2.75 kPa

5.0 kPa

7.0 kPa

14.0 kPa

A

B

C

D

E
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Enter your answer to the nearest whole number. For example, 2040

How many ml is it acceptable for a 5m long x 150mm diameter surface water drain pipe to lose per hour during a water test carried out to comply with New Zealand 
Building Code clause E1/VM1 Surface Water?

1500
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MJ used x 3600

Enter your answer to the nearest two decimal place. For example, 500.89

An LPG appliance has an efficiency of 80%.

The weight of the LPG supply cylinder is measured before and after gas rating. The cylinder weighs 48.0 kg prior to gas rating. After gas rating the appliance for 3 
minutes and 10 seconds, the cylinder weighs 47.5 kg.

1 kg of LPG = 50 MJ.

Formula:                   

Calculate, in kW, the energy output for the appliance.

Gas rate in MJ/hr  =
time taken in seconds

105.25
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Use the drop-down option/s to complete the following statement. Mark(s) are only awarded for a fully correct answer

A 1.2-metre hose assembly is used to connect a freestanding domestic cooker. 

The maximum length allowed for the appliance restraint is 

If a doorway is located near the installation, it must be at least  		         away from the hose assembly connection point.

1

2

960 mm
1000 mm



This exam consists of multiple parts. The parts can be answered in any order of your preference.

Please refer to the exam instruction leaftlet for guidance on navigating the different parts.

A trench is to be dug in line with the footings of a building and will be 1.5 metres deeper than the footings. The trench is expected to be open for 3 days.
How far away from the base of the footings must the trench be?

1.0 m

1.5 m

2.0 m

3.0 m

4.5 m

A

B

C

D

E
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An 8 metre length of pipe has been installed at a gradient of 1:80 (1.25%). 
What is the pipe fall?

8 mm

10 mm

80 mm

100 mm

1000 mm

A

B

C

D

E
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You are required to select three correct answers to obtain the mark(s) for this question.
According to the Gas (Safety & Measurement) Regulations 2010 which of the following are examples of High-risk gasfitting? 

Replacing an instantaneous water heater with an equivalent instantaneous water heater which involves the repositioning of pipework.

Maintenance on a gas hob where there are no changes to the installation.

Adding a new gas hob on an existing gas installation.

A new gas installation where the maximum operating pressure is greater than 7 kPa on a LPG installation

A new gas installation where the maximum operating pressure is greater than 7 kPa on a Natural Gas installation

A

B

C

D

E


